=1 |~
IS FRES | ROFH | RIHE | Q@iED

Bs 1 2 3 4 = 6 7 8 9 10

ER| A B D A A B C C D C

=\ KT8
as 11 12 13 14 15
BE 6 -1<x<2 m<n 12 1 52@
=, REE

164#: (2x+y)* +(x—y)(x+y)—5x(x—y)
=4x* +4xy+y* + x> —y* =5x" +5xp
=5x* =5x* +y* —y* +4xy+Sxy
=9xy
Yy=y2+1, y=2-1H
FX=9 (V24D (2-D

=9x1=9
17. (1) 50,28,8
(2) 1-32%-8%-4%-16%=40%
360°x40%=144°

28
50

% T HFERBIEU « £ 60<x <1208 [l I A KR 560 A

(3) 1000x=—=560 (A\)




= |-
q: E | k ARER | ROIFE | RiKst | 2mED

niujiazhang.com

18.4%:

“*AB= AC .. ZABC = ZACB
“* AB//CF .. ZABC = /BCF
.. ZACB = /BCF

w ABNHE . ZADB = £BDC = 90"
 BFRRAIOVIZ: .. AB L BF
“* AB//CF . ZF =90°
..ABDC = ABFC

..BD = BF

(2) AB=104C =4
AD=6

. BD=8

BC =445

19 fi#:

it CYECD L ABF /5 D, % BD Hx
FERtAACD

v LA =45

. AD=DC =x+5

fE RtABDC

x+5 4

x 3

Eia—D=ta n53°,7%
.x=15

M BC =+/15%+20% =25
C =207 +20% =202
20«/_

BE|CHIF A: §= 1Ch)

'+ 0.94 <1
/DB 0,94/ .



=1 |~
+ 2 i< FEER | ROITFH | RIHEE | 2miED

3
20.(1)Y = -x+4,Y=;

QfF: B (1) B/3m=3,-.m=1, N A fizHK13)
i& P }ﬁélé*/"ﬁj.‘j(a,—a+4) (15053)a )n\IJ

s=1op.pp
2
=%a(—a+4)

=—%(a—2)2+2

g ey
2

S Hg =20, SERKIE?2
L =183, SHERAMEAN

S=—%x(1—2)2+2=%

.'.ESSSZ
2

21.0#: 1D WARBEHFMEM AN ax, BEETEMNM AL I,

M| FH % PT 15
2a+6b=130
3a=4b

a=20
AR 15
2. ABIBE BN A 20 G, B BB BN N 15 T
2) WABBHREER x D (+>0), N B REEH I



P
IS FRES | ROFH | RIHE | Q@iED

2R (100-x) I
WERHN w T,
wa—: w,=0.8x20x+0.4x15(100—x)=10x+600
WEH = w, =20x+15[(100-x)—x]=-10x+1500
Yw, <W, i, B 10x+600<-10x+1500
s x <45
SH0<x<45HE, EF— T RERE
Bw =w, B, BI10x+600=-10x+1500
f1g x =45
SoHx =458, VES—FMES) ]
2w, >w, 5, EI10x+600>-10x+1500
f#18 x> 45
e x<50
S HA5<x<S0RY, VWEHIZHREME
4 EATR: M0<x <45, VEB—F REMRE,
Yx =450, EHB—MIES) ZMRE
45<x<SORY, VEBH T REMHE
22. (1) PM=PN;PM_LPN
@) APWN REEEHA=HAE
I R:
H A AT &0: AABC FAADE ¥JASEE f =/
. AB=AC, AD=AE, /BAC=/DAE=90°



"+ ZBAD+/DAC= £/ DAC+ £ CAE
. ZBAD=_2DAC

. ABAD<L2 ACAE (SAS)

'+ ZABD=~/ ACE, BD=CE

K BDALCE TRH ZLACTHRG
" ZABD=/ACE, ZAGB=ZAGC

'+ ZCHB=_/BAC=90°

~.BD_LCE

XM, P, N 435l 2 DE, CD, BC # £
. PM & ACDE K {7 £k

1
~.PM//CE H PM=2CE

1
[F)¥ : PN/ BD H. PN=2BD

"' BD=CE, BD L CE
. PM=PN H PM_LPN
S APMN NEREA =M

49
(3) B3

23. (1) fi#: -.-Eﬁ?:y=—§x+cijjA(3,0)

’ﬂ‘])\% —§x3+c=0,c=2

ARER | ROIFE | RiKst | 2mED



B4k AB HERN: y=-§x+z
. B(0,2)

£t A(3,0), B(0,2)
ﬁ)\?% —%x9+3b+c=0
=2

s ypess s
Ly= 3x +3x+2
(2) AT H1: M (m, 0)

UNM L x HIRZ B 2k y=—%X+23:)§ P

AL y- 33 + T2 FAN

o.oN (m’ —g—mz+?m+2)

P (m, --23-m+2 )

"' AAPM AT ABPN

® AAPM«> ABPN

] £ AMP= ZBNP=90°

" BN/ x %

“oB, N I AR5 AE R g 2

..o -im2 +£m+2:2
3 3

**m=0 it P, N5 BEA, ABPN AELE

ARER | ROIFE | RiKst | 2mED



THREK

e ARER | ROIFE | RiKst | 2mED
niyjiazhang.com

)
2

B M <§, 0)

@ AAPM«» ANPB, M ZBNP=ZMAP
if A BAEBHLMN, W H (m, 2)
" ZBNP=/MAP

.. tan ZBNP=tan ZMAP
s ENBH _0B_2

NH 04 3
. m —2.
20000 3
3 3

%%3 m1:O (%)

_11
mz_i

A L

8
B M (%, 0)

1o
(3) 7R



ARER | ROIFE | RiKst | 2mED

KB AR

IS5 :zzniujiazhang -

Fhpea O ke W SImHE




